\/153«:\2 - Qo@\%’w A

L \ a) Complete os quadros:
C

7° = 343 (-3)Y = —27 0,2° = 0,008

7 = 4% 3= 9 0,2" = 0,04

7 = 4 -3) = -3 0,2 = 02

7=\ -3)= | 0,2"= |

77! = : (-3) = -\/ 0,2 =5

= = -5 _

7% = L (-3) %= % 0,27 =15
LN

7= -3) "= - L 0,2 = \15
30 1




in23.10° <

1

-2
1ii) 0,002 - 10

\) i)(2,8- 10" - (1,4 - 10%

ii)(2,5-10 ) -(5-10 )

iii) (4 - 107) = (2 - 109

\

(4410)
iv) >
(4-10°)

\

10"
1,2 - 10"
2 .10 "
s 4 Iz
= 23-L& -lo - = 302 -0
N A
= Z,\J'TJ - lo (D =
: -3
2,5 (o = 1o 10
5 3
§. 9w
L '07'
5 3
(0 .
b & > s L0l
-




